11 1
m el (SING)A2 A=|a a a 3.1
> el:=cos(sin(x))"2; ) 3
diff(el,x); i b b b
el = cos(sin (x) )2 > factor(Determinant(A));
-2 cos (sin(x) ) sin(sin(x) ) cos (x) .1 L sab(b=1)(-1+a)(a=b) (2
B e2:=((x*2+1)"2)(1/3);
e3:=diff(e2,x); V?(b) )
plot(je2.e3].%): > A:=Matrix([[2,-1,11,[-1,2,11,[1,1,2]]);
1/3 2 -1 1
e2:= ((x2 + 1)2)
) A4=]-1 21 @1
23 = i M 1 1 2
) -
r+ > |,V:=Eigenvectors(A);
20 31[-11 -1
10 Lv=|3]] 10 -1 @.2)
0 01 1
-t——=s5 0 5 10 > v1:=Column(V,1);
L X I[11.v1;
Avl;
v2 -1
[> edi=exp(x)*sin(2°X); P
int(e4,x); 0
ed = ¢ sin(2 x) .
- % e cos(2x) + % €' sin(2 x) (V) 3
> int(int(sqrt(4*x*2-y*2),y=0.x),x=0..1): 0
Warning, unable to determine if -2*x is between O and x; try to use -3
assumptions or use the AllSolutions option 3 @3)
Warning. unable to determine if 2*x is between O and x; try to use 0
assumptions or use the AllSolutions option L
) ) | AT Rk
< J3 + 3 2.2)
L V4
V3(a) B restart;
[> with(LinearAlgebra): > eqli=he2ly="1,2"x-5"y=-sqrt(6)};
[> A:=Matrix([[1,1,1],[a,a"2,a*3],[b,b*2,b3])): i eql = {x=2y=-1,2x=5y=-J6} G-
> sl:=solve(eq1,{xy});
31 sl={x=-5+2/6.y=-2+/6} 5.2)




> eq2:=simplify(subs(s1,(2-abs(x))/abs(y)));
-3+2/6
-2+J6

eq2 =

=> expand(denom(eq2)*(2+sqrt(6)));

B expand (numer(eq2)*(2+sqrt(6)));

6+6

5

[> restart;
B f:=unapply(1/8*x"2,x);
g:=unapply (-x*2+3*a*x-2*a"2,x);
f=x— L xz

8
g::)c—>—x2 +3ax—2d
[> s1:=solve(f(x)=g(x),X);

4 4
sl = ? a, ? a
[> f(s111]);

ol
Q

B aa:=unapply (diff (f(x),x),x);
1

aa =xXx— —— X
4

1,22
eq2 : Fax— 54
B h:=unapply(eq2,x);
N S
h=x— 3 ax 9 a
> a:=2;
a=2

[> plot([f(x),g(x).n(x)].x=0..5);

=> eq2:=expand(subs(xO=s1[1],aa(x0)*(x-x0)+f(x0)));
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